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x(t)=al(t)+f; f, (t,s,y((pl(t))) ds tel[o,T] (1)
yt)-a,®+ L& (ts,x(0,®))ds te 0T (2

alial) Alalsal) ddateall Ja ?}3" ?3
t
x(t):al(t) +fc|. f-l (tisix(('pl(t))) dS t € [OIT] (3)
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x(t) =a,(t) +f; f, (t,s,fﬂly((pl(t)))ds t € [0,T] (6)

y(t)-a(®+ [ & (s, Px(0,(®))ds  te [0,T] (7)
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= x(O)-a,®)+ ), f (45,0 ¥(e,(D))ds t € [0,T] (8)
59O - [ (65, 0x(e.(0)) ds te (0,1 (9)
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x(0)=x, and y(0)=1y,
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x(t)=a,(t) +fﬂl f, (t,s, Igly((pl(t))) ds t e [0,1] (10)

y(t)=a,®+ [, & (t5,%x(e,(®))ds t € [0,1] (11)
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i x(t)=a,(t) + fﬂl f; (t, s, DPry (o, (t))) ds t€ [0,1] (12)

iy(t)zﬂz(t)-i‘fﬂl f, (t,s,Dﬁzx((pz(t))) ds t € [0,1] (13)
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x(0) = y;x(1) and y(0) =vy,y(1) ,1n,v, =1L

us°~~ 6.\1;'\,.\‘:!‘_,45&45\



